@ JIUEM SEHAT SIHHE M2 OHY (ZHOIX HAN

o FeH : | IILEAE F2AQ AMEFH}I
o FFEFYA : HABAN BAT BEE | TLEAE 18BL
o NHAHANZAL + F2A3)4} o)A
o FHTFE : A3}t 2% | A 165, 13705 = 97244
¥ 7| AFA(S7IZ=2AD A =2 0 219 (9] 63Th)
TEHS | 74A | 74B | 84A | 84B | 84C | 84D | 84E 84F | 84G A
Hi 7S M| CH
(o) 1(3) 13) | 11(33)| 13) 3(9) 1(3) 13) 13) 13) 21(63)

O HeFEe @& 1599-1779

SEYH3I= FdA=x HEzlel A=
Iand M| cf == MEHST
(of =) =d of | =d of |
74A 1(3) 9 1 3 69 46
74B 1(3) 8 1 3 68 56
84A 11(33) 149 11 33 75 54
84B 1(3) 2 1 1 34 28
84C 309) 16 3 9 65 35
84D 1(3) 5 1 3 50 24
84E 1(3) 13 1 3 66 59
84F 1(3) 14 1 3 67 53
84G 1(3) 12 1 3 56 50
2 A 26(78) 228 21 61 -
¥ 2o @ BMXHESAHKYY|HE 051-601-5128, 5121
* TEAT|Y &Y 25X FEHMASFo| &5 X&) MI=HM2eX9S o wEl SEXIIE LA
ChS 5o &MUz =8 =9 F0
b SA A Fol BAT|Y MAT(ZH0] Z =M R M R0
Ll A 34718 MA 7|20 ZI &M 2 M2 §of




3.

FARCENZF) Fe
FTEFE  T4A (FA 13, ¢¥] FH 337)
Fe R /o] My e
=M MO 0494
Of| 1 SO 9775
T4A
Of| 1 S0% 0308
Of| 1 HOo¥g 1288
FTERFE : 4B (FH 14, <¥) FH 337)
TR £ /of sl N S
=M o|0Z 4052
Of| 1 0|04 9705
74B
Of| 1 40 2052
off 1| =03 1196
- FETE : 84A (A 114, d¥ FH 337)
FHRY 29 Mo e
=M ZOF 3587
=H d0OG 2614
= =0 4722
=H olo= 9091
=M olOo+ 9569
84A FH 209 9683
=H Z0Od 3275
=H Jlex 7903
=H 509 3459
= HO? 9918
=M ojO% 4583




Hatels

TEHRY =2 My 5 4xiz|
off 1| dOoH 8849
off 1| 4078 7152
Of| 0l0F 1326
off 1| 409 0682
off 1| 407 3611
off 1| d40= 0179
off 1| o= 3771
off 1| dO% 8873
Of| a0 2212
off 1| ojo0| 6694
of H| HoF 1711
off 1| a0 9999
off 1| 2o 5284
of| H qFOEN 7697
Of| e Z0= 0018
off 1| ol0= 2950

84A off | =le):! 0390
Of| e O|O4 1275
of H 2o 1115
off 1| O 6502
Of| e a0 1715
ofH| o|O% 7792
off 1| 409 1991
off 1| 2024 6811
off 1| oFOOH 0395
of| e 5048 3317
Of| 1 08 9054
of| H 204 7889
off 1| XlOO0t 0056
Of| 1 Hod 9063
off 1| HOzt 2633
Of| e O3 5917
Of| 1 o= 7843




- FFH¥ : 84B (FH 14, ¥ FH 17)
Fe gy 25 /0f1] Ao i
=M 20% 4351
848 Of| NIOF-! 5722
- FFHY : 84C (F4 34, dnl F4 97)
Fegy =3 /0f 1] Mo i
=M EXoI 2719
=M 2o 3340
=M HOod 4587
off 1| oo+ 1490
off 1| 502 5640
off 1| =HoF 5623
84C off 1| WOl 3092
off 1| il 8060
off 1| 408 1310
Of| e 408 1927
off 1| FO= 3081
off 1| 4043 8884
- TFY : 84D (FH 14, 48] 4 37)
Fe gy 25 /0f1] Ao i
=M a0 5080
Of| e 2HOo% 1782
84D off 1| Hoet 9488
off 1| d0& 0508
- THAY : 84E (FA 17, v FH 337)
Fe R /o] My i
=M MOZ 8136
off 1| ol0& 2086
84E off 1| d0& 0228
off 1| Hoet 2951




)

A3

=
T

174, 4n

=l

. 84F (%

L1 O &
R

__O._

ol

&

K

4]
54X

2186

0290

3985

3545

T
m]

30

KO

~NO

of

100

ofr

~NO

/ol

M

x

Kl

il

Kk

o &l

Ofl E

Ofl E

w0
0F
il
Ki-

84F

__0._

wof

K

K

]
54X

1101

6383

7221

0792

T
m]

30

—_

g

NI|

_

<

o

.
[}

0[O

/ol

M

x

K-

|

K-

o &l

o &l

Ofl E

w0
0F
il
Ki-

84G




